oboob mmog 34

91 OD0OOOODbODbDOOOO

00 DO0O0DD0O0O0O0O0O0O0w=f(:)0000.0D0O000000O0O0O0O 2
O00000,wD wOOO0OO0 woOOOOO0OO,f(2)0 2=20000 w0
ogoooo.oooo

lim f(z) = wp 9.1)

Z—20

Uob.0000 000wl woooo (@uooobod
gooo)booobooooboo.

0000 w=f(:)00030000 [1z=20 f(2)00000,[2]lim,., f(z) =
wo00000,Blw = f(2)00000,000000000, f(2)0 2=z 0
00000000

(Hh 000D f(»)O00O0OO0O0ODOOO0.000 000000,

(i) f(z2)=(z*-3a*)+32—a (2 —a)

z
2) 0000 f(»)0 z=0000000000C00.

{(Z+@Nﬂ (= #0)
{

@ f() 0o (l0)
(z+2)*/|z] (2#0)

(i) f() 0o (:lo)

20170 110 280 (OOO0O)



oboob mmog 35

92 OOOOOOO

(Hhoodbobob bbb bboooobbooa.

() f(z)=2"—2iz+3 (2 =1)

(i) f(z) = o (20 =1)
i) /() =5 (++2) (=0
@) f(2)= 5 (= Z) (20 = =)
an:zig (+# —6/7)0 :0000000000000,w00000

UeUooob)bobuooooooo.

G)n0000000.0000

f(z) =

1—=z2

0.=10000000000000.000 f(1)=n+1000.

20170 110 280 (OOO0O)



oboob mmog 36

93 0OOOO

00 f(z) =-200000 w=f(:)0000000000.

() 000020000

\/g t
(a) z + 2t+22
t \/g
(b) z +2+22t

(000 t000)000 20 2,00000000060000

2 (HODDODOOO0O0 20000000 fx:)000wDOOOOO0DO00,wOO
O00oooO00oO,0b0o000ooooooogoowOooDO.

94 UUOUOOOoognd

000000 z=z+4w(r,yO0ODO)0OOO f(z)0D0ODO0OO0DODODODOOCODOOO
gogbooboooooo.

D) f)=2>—y*—z+5+i(2z— 1)y
() f(2) =e Y (cosx +i sinx)

B) fl2)=2-2

@) f(z)=z2+1/z

20170 110 280 (OOO0O)



